

المسئولين الأول :

(ج) $(a-b)(2\sqrt{7}-3\sqrt{3}) = 2\sqrt{7}a - 3\sqrt{3}a - 2\sqrt{7}b + 3\sqrt{3}b$

بما نحتاج :
 $a-b > 0$ لأن $a > b$
 $2\sqrt{7} > 3\sqrt{3}$ فإن $2\sqrt{7}-3\sqrt{3} > 0$

ومنه $(a-b)(2\sqrt{7}-3\sqrt{3}) > 0$
 $2\sqrt{7}a - 3\sqrt{3}a - 2\sqrt{7}b + 3\sqrt{3}b > 0$
 $2\sqrt{7}a + 3\sqrt{3}b > 2\sqrt{7}b + 3\sqrt{3}a$ ومنه

المسئولين الثاني :

(أ) لدينا : $2 \leq y \leq 4$

أي $4 \leq 2y \leq 8$ ومنه $-1 \leq 2y-5 \leq 3$

لدينا $2 \leq y \leq 4$

أي $-6 \leq -3y \leq -12$ ومنه $-6 \leq -3y+6 \leq 0$

(ب) لدينا : $-1 \leq 2y-5 \leq 3$ ومنه $-6 \leq -3y+6 \leq 0$
 بالجمع نجد : $-7 \leq -y+1 \leq 3$

(ج) $| -3y+6 | = \begin{cases} 3y-6 & y \geq 2 \\ -3y+6 & y < 2 \end{cases}$

$|y-1| = \begin{cases} y-1 & y \geq 1 \\ -y+1 & y < 1 \end{cases}$

(د) $\sqrt{(x+3)^2} = 2$
 $|x+3| = 2$

$x+3 = 2$

$x+3 = -2$

$x = -1$

$x = -5$

$S = \{-5, -1\}$

المجال	المركز	نصف القطر	الحصر	المساواة	القيود المطلقة
[3; 10]	6,5	3,5	$3 \leq x \leq 10$	$d(x; 6,5) \leq 3,5$	$ x-6,5 \leq 3,5$
[-3; 5]	1	4	$-3 \leq x \leq 5$	$d(x; 1) \leq 4$	$ x-1 \leq 4$
[-6; 2]	-2	4	$-6 \leq x \leq 2$	$d(x; -2) \leq 4$	$ x+2 \leq 4$
[-10; 6]	-2	8	$-10 \leq x \leq 6$	$d(x; -2) \leq 8$	$ x+2 \leq 8$
				$d(x; -3) > 5$	$ x+3 > 5$

$x < 8$ أو $x > 8$

$[-10; 6] \cup [3; 10]$

المسئولين الثاني :

(أ) $x = 3\sqrt{7} + \sqrt{28} - \sqrt{63}$

$x = 3\sqrt{7} + 2\sqrt{7} - 3\sqrt{7} = 2\sqrt{7}$

$y = \frac{(\sqrt{3})^{-4} \times \sqrt{18}}{3^{-3} \times \sqrt{6}} = \frac{(\sqrt{3}^2)^{-2} \times \sqrt{3} \times \sqrt{6}}{3^{-3} \times \sqrt{6}} = 3^3 \times 3^{-2} \times \sqrt{3} = 3\sqrt{3}$

(ب) $x = 2\sqrt{7} = \sqrt{98}$

$y = 3\sqrt{3} = \sqrt{27}$

لدينا $98 > 27$ ومنه $\sqrt{98} > \sqrt{27}$

أي $x > y$

$\frac{1}{x-y} = \frac{1}{2\sqrt{7}-3\sqrt{3}} = \frac{2\sqrt{7}+3\sqrt{3}}{(2\sqrt{7}-3\sqrt{3})(2\sqrt{7}+3\sqrt{3})} = \frac{2\sqrt{7}+3\sqrt{3}}{1} = x+y$

(ج) حسب السؤال $\frac{1}{x+y} = x-y$

$\frac{1}{2\sqrt{7}+3\sqrt{3}} = 2\sqrt{7}-3\sqrt{3}$

$\frac{2\sqrt{7}-3\sqrt{3}}{2\sqrt{7}+3\sqrt{3}} = (2\sqrt{7}-3\sqrt{3})^2$ فنضرب الطرفين في $2\sqrt{7}-3\sqrt{3}$

$\frac{2\sqrt{7}-3\sqrt{3}}{2\sqrt{7}+3\sqrt{3}} = 2\sqrt{7}-3\sqrt{3}$ فنضرب الطرفين

$$f(x) = \frac{2}{x-1} \quad (1)$$

$$Df = \{x / x \in \mathbb{R}, x-1 \neq 0\}$$

$$Df = \mathbb{R} - \{1\} \quad \begin{array}{l} \text{أي } x \neq 1 \\ \text{و ص } \end{array}$$

$$f(x) = \sqrt{-x+4} \quad (2)$$

$$Df = \{x / x \in \mathbb{R}, -x+4 \geq 0\}$$

$$Df =]-\infty, 4] \quad \begin{array}{l} \text{أي } x \leq 4 \\ \text{و ص } \end{array}$$

$$f(x) = 2x+1 + \frac{4x}{x^2-3} \quad (3)$$

$$Df = \{x / x \in \mathbb{R}, x^2-3 \neq 0\}$$

$$Df = \mathbb{R} - \{-\sqrt{3}, \sqrt{3}\} \quad \begin{array}{l} \text{أي } x \neq \pm\sqrt{3} \\ \text{و ص } \end{array}$$

$$f(x) = \frac{x}{x^2+4} \quad (4)$$

$$Df = \{x / x \in \mathbb{R}, x^2+4 \neq 0\}$$

$$Df = \mathbb{R} \quad \begin{array}{l} \text{و ص } \end{array}$$

$$f(x) = \frac{x}{|x|-1} \quad (5)$$

$$Df = \{x / x \in \mathbb{R}, |x|-1 \neq 0\}$$

$$|x| \neq 1 \quad \begin{array}{l} \text{أي } x \neq \pm 1 \\ \text{و ص } \end{array}$$

$$Df = \mathbb{R} - \{-1, 1\} \quad \begin{array}{l} \text{و ص } \end{array}$$

انتهى

الأستاذ بن مسعود